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A. 7% 3k True/False Questions (20%): H— /88 » 4132 4> B4dted 5 B R EEFo 2 4 -

. ( )lf a frequency distribution is open-ended, the variance can not be determined.

2. ( )The sum of the deviations from the mean for the set of numbers4,5 and 9 will equal zero.

3. ( )For salaries of $102,000, $98,000, $30,000, $106,000 and $101,000, the arithmetic mean
would be an appropriate average.

4. ()t the probability of success (p) remains the same, but n increase, the shape of the binomial
distribution becomes more symmetrical.

5. ( )Arandom variable 1s a quantity resulting from a random experiment that can assume
different values by chance.

6. ( )China Airline determined that the mean number of passengers per flight is 156 with a
standard deviation of ten passengers. More than 90% of their flights have between 146 and 166
passengers.

7. )Astudent surveys his statistics class to test the hypothesis that the average grade for his
school is 75. Based on this sample, he accepts his hypothesis. The school Registrar Department
calculates the average grades for all students in the school is 70. The student made a Type |
eITor.

8. ( )Foran ANOVA test, If the computed value of F is 4.01 and the critical value is 2.67, we
would conclude that all the population means are equal.

9. ( )A manager is trying to predict weekly sales of a product and estimates a regression equation
with a standard error of estimate of $1,955. The manager would conclude that 68 percent of the
predictions would not be off more than $1,955, about 95 percent would not be off by more than
53,910, and virtually all predictions would not be off by more than $5,865.

10. ( )In the goodness-of-fit test, the chi-square distribution is used to determine how well an
observed set of observations “fits” an “expected” set of observations.

B. 31 7% A8 Fill in the Blank Questions(20%)

I. How many possible outcomes do both the binomial distribution and the Poisson distribution

have? ( )
2. There are four levels of measurement: ratio, ordinal, interval, and nominal. What level of
measurement is a bar code? ( )

3. For a stem-and-leaf display, what is the leaf for the value 123 ? ( )

4. A statistic professor finds she average five e-mail messages per day from students. Assume the
number of messages approximates a Poisson distribution. What is the probability that on a

randomly selected day she will have no messages? ( )
5. What 1s the null hypothesis for an ANOVA testing 3 means 7 ( )
6. The ( ) Theorem states that if the sample size n is sufficiently large, the

sampling distribution of the means will be approximately normal no matter whether the
population is normally distributed, skewed, or uniform.

/. A manutacturer of car seats claims that at least 80% of all seats produced meet the minimum
government standards. A consumer group tested 400 seats and found that 100 did not meet the

standard. What 1s the null hypothesis? ( )

8.As same as question 7 stated. What is the calculated test-statistic? ( )

9. Continue the question 8, What is your decision if the critical z-value is —1.645 and the level of
significance ¢« =0.05 ( )

10. When comparing two population variances we use the ( ) distribution.
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C. #& F #8 Application problems(60%) » %8 15 % -
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7. Table

A R @& K
0.975 0.95 0.90 0.10 0.05 0.025 0.01

10.000000 {0.000000 [0.015791 {2.70554 13.84146 |5.02389 [6.63490
10.050636 [0.102587 0.210720 14.60517 [5.99147 |7.37776 [9.21034
0.215795 10.351846 |0.584375 (6.25139 |7.81473 |9.34840 |[11.3449
10.484419 10.710721 [1.063623 |7.77944 |9.48773 |11.1433 [13.2767
0.831211 |1.145476 [1.61031 [9.23635 {11.0705 [12.8325 |15.0863
|1.237347 11.63539  [2.20413 [10.6446 (12.5916 [14.4494 (16.8119
|1.68987 12.16735 [2.83311 [12.0170 [14.0671 [16.0128 [18.4753
2.17973 |2.73264 |3.48954 |[13.3616 |15.5073 |17.5346 (20.0902
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